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Scientific Officer (Toxicology)

1. Dragendorff's reagent is used for the detection of :
' (A)  Alkaloids Poison

[B) Albumins Poison

(C) Metals Paison

(D) Volatile Poison

2. Which of the following antidotes is not used in cyanide poisoning?
A} Dicobalt EDTA
(8] Hydroxycobalamin

&mmﬁﬂnm:ﬂm&nﬂmﬁm of a chemical an observable and
able_isidentified.

(B) Waste product
{D) Effect or response
: hwmm mixed with peanut oil,
i a h '-
(B) The needle type used
(D) None of the above
Wﬁﬂﬂ‘ﬂlﬁﬂﬂ occurred is:
fA} Uhramwuwﬁpemmm

(B) Infrared Spectroscopy
€} X-rays Spectroscopy

(D) Raman Spectroscopy
olution ﬂmt:ﬂstnhameml'rvdmgan ion concentration are called:
' _;n} Buffer solutions

(B) Standard solutions

€} Homogenous solutions

7. Which poisonous gas results in tissue anoxia?
ﬂ} ‘Carbon monoxide

€} Hydrogen sulphide

(D} Phosgene




8 In solid phase Micro Emamnn what is the thickness of coating of stationary phase
' IWImﬂhﬂslhxﬂnﬂﬂnsmE‘ﬂhﬂr?

(A) Ium
(B} 10pm
(C} 100um
(D) 1000um
9. A combination of Paper chromatography and electrophoresis involves-

(&) partition chromatography
(B) electrical mobility of the ionic species
(€} both(A)and (B)

(D) none of the above

10. In case of suspected alcohol poisoning, blood should be collected from:

(A Heart

(B) Pleural cavity

(C) Abdominal cavity

(D) Peripheral vein
11. The correctness of measurement is called:

{A) Accuracy

(B) Calibration

(C) Error

(D) Precision
12. 'Van Urk Reagent’ turns biue — purple in the presence of -

(A)  Narceine

(8) sp

(€}  THC

{s]} Phencbarbitone

(A) 10% NaHSO,
(B) 10%NaOH

(C) Potassium dichromate solution in H;50,
(D) 0.5% palladium chioride solution in 2N HCl

14. “Crotin’ a glycoside of croton tiglium linn, mmMﬂM?

(A} Irritant
(B) Cerebral
(C}]  Neurotic
(D) Cardiac
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15. Which one of the following is a specific detector for organo-phosphorus compounds?

(A) FID s
{8) PD

(€) McT
(D) 7D

Lung injurant
" Nerve agent

(D) Blistering agent

olicwing a s the identify of a material?




22. Which of the following detector is used In capillary electrophoresis?
(&) UV/VIS absorbance
(8} FID
(c) Tep
(D) EC

23. Which of the following detector in HPLC generates structural and molecular weight
information about the eluted sclute?
(A} Electrachemical detector
(B) Fluorescence detector
{C! MS detector
{D) Ri detector

24, In tandem mass spectrometry, which of the following is coupled?
(A) MS-IR
(B} MS-GC
(C} M5-LC
(D) MS-MS

25. Primary source of infrared radiation is:
(A) Microwave radiation
{B) Alpha radiation
(C) Beta radiation
(D) Thermal radiation

26. Which of the following is a volatile inorganic poison?

(A} Phosphine

(B) Chloral hydrate
(C) Pyridine

(D) Chioroform

27. Which of the following is the clinical finding in carbon monoxide poisoning in skin colaration?

(A) Cyanosis
(8) Jaundice
(€) Cherry pink
(D) Flushed pink




owing is an organophosphorus pesticide?



36. Rati is the common name of:

37.

38.

38,

41,

42,

43,

(A} Digitalis purpurea
(B) Aconitum napefius
{C) Abrus precatorius
(D) None of the above

Which of the following is not a cannabis preparation?
{A) Charas

{B) Ganja

{C) Hashish oil

(D) Opium

Which of the following color test is applied for the detection of Barbiturates?
(A) Dille-Xoppanyi reagent

(B) Koppanyi-Zwikker reagent

(C) Mercurous nitrate

(D) All of the above

Which of the followings is not an alkaloid of opium?
(A) Codeine

(B} Narcotine

{C) Morphine

{D) Ecgonine

- Which of the following is a separation technique?

{A] Chromatography

(B) X-ray fluorescence

(C) Neutron activation analysis
(D) None of the above

Which of the following is a mechanical poison?
{A) Glass powder

{B) Chopped hair

(C) Diamond dust

(D) All of the above

Which one of the following is extracted from Coca Plant?

() Cocaine

(B) Amphetamine

(C) Narcotine

(D} PCP

Which one of the following is detected with Dugquenais-levine test?
(A} Cannabis

(B) Cocaine

(C) PCP

(D) Amphetamine



L
- Which part of the Dhatura plant is poisonous:

ion having highest THC content?




0. The active ingredients of Cannabis are collectively known as:

(A) Cannabinoids
(B) Annabinoids
{C) Cannazoids
{D) Cannatedois

51. Which of the following test is recommended for the detection of carbon Monoxide
(A) Katayamas Test

(B) Sodiumn Fluoride Test
(C) Marquis Test
(D) Dillie-Kopanyi Test

in Blood?

52. On addition of aqueous solutian of Methyl Violet in mineral acids, which color
:'_A__I Greenish Blue color
{B) Red color
{C) Yellow color
(D) No color

is produced:

53. Sodium, Potassium and Ammonium Hydroxides are strongly corrosive due to:

(A) Their solvent action on protein material
(B) Their Saponifying action on the lipides

(C) Their ability to extract water from the tissues
(D) All of the above

54. Which of the Cyanide is highly poisonous?

(A} Potassium Cyanide
(B} Ferro Cyanide

{C) Ferri Cyanide

(D) None of the aboye

55. Which test is recommended for Hydrocyanic acid?

(A) Libermann's Test
(B) Scott Test

{C) Vortmans Test
(D) Duquenois Test

6. Which part of Atrapa Belladonna is poisonous?

(A) Leaves
(B) Berries
(C) Root
(D) Al Parts




57. Alcohal is eliminated out of the body through:
(A) Urine
(B) Breath
{C) Perspiration
(D) All of the Above
58. In Breathalyzers Pot. dichromate changes to:
(A} Chromium Sulphate
(8) Chromium Oxalate
{C) Chromium Chloride
(D) None of the Above

59. Drugs such as alcohol, Heroin, Amphetmine, Barbiturates and Cocaine lead to which degree of
addiction:
{A) High
(B) Low
(C) Mordrate
{D} None of the above
60, Which of the following is a naturally occurring drug of abuse?

(&) Merphine

(B} Hergin

{C) Methadone
(D) Mepridine

61.  Which of the following is a semi-synthetic drug of abuse?

(A) Heroin
(B] Cocaine
(C) Mescaline
(D) Mepridine

62. In case of Carbon Monoxide poisoning, which preservative is recommended for the
preservation of blood sample?

(A) Sodium Floride
{B) Sodium Carbonate
(C) Sodium Chioride
(D} No preservative




63.

B5.

b6.

67

69,

Food poisoning occurs due to infection of food with:

(A) Salmonella group bacteria
(B) Salonella group bacteria
(C) Salodella group bacteria
{D) Salomella group bacteria

Oxycodone Is synthesized from:

(A) Thebaine
{B) Morphine
(C) Codeine
(D} Papaverine

Which of the following is used for the treatment of Heroin addiction?

(A) Methadone

(B) Mepridine

(C) Dextropropaxyphene
(D) Butorphenol

Which of the following screening test is recommended for organo-phosphorus compounds?

(A} Ammonium Molybdate Test
(B} Marquis Test

(C) Froehd's Test

(D} Husemann's Test

Which of the following extraction method is the most frequently used for

pesticides from the biclogical material?

(A} Dry ashing method

(B) Wet ashing method

(C) Solvent extraction method
(D) Steam distillation method

Which of the following drug is known as “Red Devils"?

(A) Secobarbital

(B) Pentazocine

(C) Meprobamate

(D) Dextropropoxyphene

Which of the following drug is known as “Date Rape Drug"?

(A) Alprazolam
(B) Diazepam

(C) Temezepam
(D) Flunitrazepam

10



70.

71,

T2.

73

74.

75.

76.

Which of the following drug is also called "Ice*?

(&) Heroin

{B) Cocaine

{C) Methamphetamine
(D} Oxycodone

Mescaline is found in:

[A] Lophophora williamsic
(B) Claviceps purpurea
(C) Psilocybe maxicana
(D) Erythroxylon Coca

Smokable form of metha mphetamine js:

(A} Cocaine
(B} Rock
{C) lce

(D) Glass

In the metabolism of alcohol the first step in the process of oxidation is the breakdown of

ethyl alcohol to:

(A} Aldehyde

(B) Acetane

(C) Acetaldehyde
(D) Aniline

Vanillin is key component of:

(A) Duquineis — Levine Reagent
[B) Marquis Reagent

{C) Scot’s Reagent

(D) Dillie - Koppanyi Reagent

The primary site of kidney damage resulting from acute exposure to Inorganic mercury salts

is the:

(A) Glomerulus

(B) proximal tubule
(C) loop of Henle
(D) renal papilla

A drug that can mimic brain death when taken in overdose is:

(A) Thiopentone
(B} Propanolol
{C} Quetiapine
(D) Baclofen

11




77,

78,

79.

Bl.

B2,

83.

Aspirin inhibits all of the following except:

(A) Cyclo oxygenase

(B) Recurrent miscarriages
(C) Protacyclin synthesis
(D) Lipo oxygenase

Run-Amok is caused by:

{A) Cannabis
(B) Cocaine
{C) Heroine
(D} Hyoscine

All of the following symptoms can occur with Ciguatera poisoning except:

(A) Myalgias

(B) Flushing

{C} Metallic taste

{D) Reversal of temperature sensation

Cannabinoids:

{A) Produce tachycardia

{B) Have an antipsychotic action

(C) Act on a number of non-specific receptors
{D) Constrict the pupils

With regard to the alcohols, which is false?

(A) methanol causes snow storm vision in severe intoxication

(8) ingestion of both methanol and ethylene glycol causes a metabolic acidosis with an

increased anion gap and an increased osmolar gap
{€) neither methanol or ethylene glycol are absorbed through the skin

(D) you might expect to find oxalate crystals in the urine of a pt who had an ethylene

glycol OD

Which of the following is not commonly associated with mercury vapor poisoning?

[A) acute, corrosive bronchitis
(B) interstitial pneumonitis
(C) tremor

[{#}] vomiting and bloody diarrhoea

Which form of mercury was the predominant cause of Minamata Bay disease?

{A) metallic mercury

(B} mercuric salts

(C} mercurous salts

(D) organic mercury compounds

12




B4,

85,

86.

87,

The chloronicotingl compeound imidacloprid demonstrates a high insecticidal potency and
exceptionally low mammalian toxicity due to:

(A) its high affinity for insect nicotinic acetylcholine receptors and low affinity for
mammalian nicotinic acetylcholine receptors

(B) the blood-brain barrier in mammals

(C) the first pass effect in the liver in mammals

(D) the low pH in the stomach of monogastric mammals

NAA measures the characteristic energy values of the following rays emitted by radioactive
isotope:

(A) Alpha rays

(B) Beta rays

(C) Gamma rays

(D)} X-rays

Chemicals are more readily absorbed through the skin or Gl tract if they are:

{A) lonic compound (B) Lipid soluble
(€) Non lonic and neutral (D) Both (B) and (C)

With respect to excretion of toxic substances which of the following is the correct order of
importance of the three major routes?

{A) fecal>lung=kidney (B) lung=fecal=kidney
(C) fecal>kidney>lung (D) kidney>fecal>lung

Heparin and Protamine sulphate used together is an example of:
(A} Synergism

(B} Antagonism

{C) Agonism
(D) Potentiation

Spin — Spin coupling is observed in:
(&) Raman Spectroscopy

{B) Neutron Activation Analysis
(C) Mars Spectrometry

(D) NMR

Elapids are:
(A) Vasculotoxic (B} MNeurotoxic
(C) Musculotoxic (D) Non toxic

13




91.

Formation of acetone occurs in poisoning due to:
(A) ethanol

(B) methanol

{C) Ethyleneglycol
(D) Isopranolol

82. Which is not an aryl phosphate OP (Organophosphate|?

93

94,

85,

96.

(A) Parathion
{8) Malathion
(C) Tik20

(D) Follidol

. 'Which of the following statements is not true?

{A) An analyte is the chemical species that is being analysed for in the sample under test
{(B) A bulk sample is one that is large enough to weigh
{C) The matrix is the entire sample including the chemical species being analysed

{D} The process of enterohepatic recirculation results in the retention of certain
substances, such as cannabis metabolites, within the body for extended periods

Which one is the main source of Nicotine:
(A} Hemp
(B) Coca
(C) Tobacco
(D} Papaver
Viper snake bite resembles with the poisoning of:

(A) Abrus precatoris

(B} Sulphuric acid

(€} Organophosphorous
(D) Thallium

Antidote for mushroom peisoning is:
(A) Negstigmine
(B} Physostigmine
{C) Amyl pitrate
(D} Atropine

14




'87. Acrodynia is seen in:
{A) Phenol poisoning
(B) Mercury poisoning
(C) Carbalic acid poisoning
{D) Lead poisoning
98. Phosphine gas is evolved when comes in contact with moisture,
(A) Sulphur
{B) Magnesiun
(€C) Aluminium phosphide
(D) Urea
99. Cystolithic hair are seenin :
(A) Ergot
(B) Coca plant
(C) Cannabis
(D) Tobacco
100. Addictive Component of common cough syrup is:
(A) Pheniramine maleate
(B) Codeine phosphate
(C} Diphenoxylate hydrachloride
(D} Alcohol

Wk ok ek ok ke
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